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1. wormtammsrsso,

r+4y = —14
1) Y
r=-y—>5

) r+2y=-06
r= -3y —12

) 20 +3y =6
r=—-5y—4
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q+4r =-22

o) {q—47“+26

@ {p—5q+1

p+5¢=-9

—3s—4t=2

©) {s— -5t +3

— 13th-note —
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—4m + 3n = —17 @) —25+ 2t = —6

—2m+n=-9 —s+ 4t = —15

—3s+4t = —15 ha — 12b = —17
( (4)

9s + 10t = 45 —a+3b=4

—11m — 4n = 53 122 — by = —37
5 (6)

9m + 8n = —67 3r — 2y =—-13

— 13th-note —
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3. kormEtaEE s,

8a + 3b = —46 r—y=
(2)
—4a + 11b = -2 5r — 3y = —10
—2m —9n = —6 2qg —Tr = —33
(3) (4)
—Tm —dn = =21 —3q + 157 =63
—2z — 3y =16 3a+2b=11
) (6)
Tr + by = —23 Ta — 5b = 45

— 13th-note —
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1. wormtammsrsso,

0 {:L‘+4y—14 @) {q—47“+26
r=-y—>5 q+4r =-22
(z, y) = (-2, —3) (g, ) = (2, —6)
3) {x+2y—6 (1) {p—5q+1
r= -3y —12 p+5g=—9
(z, y) = (6, —6) (p, q) = (—4, —1)
. {2x+3y—6 6 {s—5t+3
r=—-5y—4 —3s —4t =2
(z, y) = (6, —2) (s, t) = (-2, 1)

— 13th-note —
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WD FERAEMRE 7 X0,
. —4m + 3n = —17
—2m+n=-9

(m, n) = (5, 1)

—3s+ 4t = —15
3)
9s + 10t = 45

(s, t) = (5, 0)

—11m — 4n =53
(5)
I9m + 8n = —67
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(2)

—25+ 2t = —6
—s+ 4t = —15

(37 t) — (_19 _4)

ba — 12b = —17
4)
—a+3b=4

(a, b) = (-1, 1)

120 — by = =37
6) { Y

(m, n) = (-3, —5)

— 13th-note —

3 — 2y = —13
(z, y) = (-1, 5)
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3. kormEtaEE s,

8a + 3b = —46 z—y=0
1) { (2) {
—4a + 11b= -2 or — 3y = —10
(a, b) = (=5, —2) (x, y) = (=5, —5)
—2m —9n = —6 2qg —Tr = —33
(3) { (4) {
—Tm — dn = =21 —3q + 157 =63
(m, n) = (3, 0) (g, 7) = (=6, 3)
—2r —3y =16 3a+2b=11
5) { (6) {
Tr 4+ 5y = —23 Ta — 5b =45
(z, y) = (1, —6) (a, b) = (5, —2)

— 13th-note —



